1.

24017t 1287em? {1 @7]50] Uet. o] w, x 9] &

sholat

2X (rx4%) +xx (27 x 4) = 1287
Lox=12




2. e Id2 97159 Afkeld. 975 2ylolE Fsteizt

: 9 2cm

2% (mx22) + (27 X 2) X 6 = 327(cm?)




YA 2F9] Zo]7F 12em Q1 €710l AUtk €759 AHolE
7207cm? 7F H A WS Shd o] 47]-5-9] ol & Fotozt

> E. cm

[> HED 54cm

S5 ,
75 ol Ehnet T o,

U] HolE xx 62 = 367,

AHO EF & ax6x2 =127,

Y olE (367 x 2) + 127 x h = 7207

127 X h = 6487

. h = 54(cm)




N,

17} 5em, =°17F 7emQl 971F

(1) 2H 59 4o
(2) @ 9] ¥tz 52] do|7F 12em, =017 5em < Y71E
(3) @ o] HH2]5-2] Zo]7} 6 cm, =017t 4emQ] 9715

HE D (2) 1327cm?

>
>
>
> Hg (1) 120mem?
>
>

HE D (3) 427 cm?

(1) (BHol) = 2x(EH o) +(F4Hel)
=2x (7Xx5%) +2xX5x7T
= 50m + 70w = 1207 ( cm?)

(2) (Bol) = 2x(EHol)+(F4Hol)
=2x (7Xx6%)+2rx6x5
= 727 + 607 = 1327 ( cm?)

(3) (BHol) = 2x(EHol)+(FH )
=2x (7x3%) +27x3x4
= 187 + 247 = 427(cm?)
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